Test 2.7.2010

VKA

Ldsungen:
Punkte
1 | Bitte berechnen Sie 8
a)
9 -6 3 5
B *7T *10* 6 9
4 10 1 9
ERE T N 28
b)
2 1 -5 9 -9 =3
EXEX 4 X gFE *5 7
-5 -9 2 8 3 -9
TAX TR XTT XT30S 160
c)
=%-3)
* _ 100
-9
( =2 —10) * 10 81
d) 3 1 -5 —4 3 5 -1 =2
(G+a-Z+5)x (5 -3-—5- = 16
F i 2o D T de e D) 15
2 Bitte kirzen Sie soweit wie moglich 6
a)
14a”oswy? + 77a%orw — 28a2ow
—49a2ov2w + 21a2c?jovw + 63azors2w
L:
14a%oswy? + 77aorw — 28a%ow __2sy’+1lr-4 [7azow]
—49a20v2w + 21a2c?jovw + 63a2ors2w ~ —7v2 + 3c?jv + 9rs? aow
b)
—6ap + 12a
66au — 24a
L:
—6ap + 12a -p+2
66au—24a - 1u—4 Loal
c)
—33v2 + 22mv — 77sv
55v2 — 33mv — 99v
L:
—-33v2 4+ 22mv —77sv. _ -3v+2m —7s
55v2 — 33mv — 99v ~ bv-3m-9
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3 | Bitte berechnen Sie

11lry - 3 -k+g

a)
—4bj+11 = _7k-10
“4r+1 T —1lu-4b
L:
—4bj +11 =~ _7x - 10 _ 44bju + 16b% — 121u — 44b + 28kr + 40r — 7k — 10
“ar+1 T T1lu-4b ~ 44ru + 16br — 11u — 4b
b)
—4hq +9 2e -1
-p-2 = -6gm-11
L:
~4hg+9  _pe—_1 _ -101+ 24ghmg + 44hq — 54gm — 2ep — p — 4e
-p-2 ~ —-6gm-11 6gmp + 11p + 12gm + 22
c)

11ry - 3 -k+g

3bg -1~ -9js - 11dy

—99jrsy — 121dry? + 27js + 33dy + 3bgk — 3bg? -k + g

3bg-1 ~ -9js —11dy

—27bgjs — 33bdgy + 9js + 11dy
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